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General Instructions SECTION I 13 marks
e Reading Time — 3 minutes e Attempt Questions 1 -- 4 in one booklet
s Working Time — 55 minutes s  Show all necessary working
s Writeusing black or blue pen
* Board-approved calenlators may be used SECTION H 25 marks
e Marks may be deducied for careless or

e Attempt Questions 5—6

¢ Answer each question in a separate
booklet :

e Show all necessary working .

badly arranged work
- Task Weighting —30%
s Total Marks —38

Question I -3 R
Question 4 /10
Question 5 _ 112
Question 6 13

TOTAL 138
1

SECTION I START A NEW BOOKLET
Total Marks 13
Attempt Questions 1 -4

Quesfions 1 to 3, answer efther A, B, Cor D. ’ 3 Marks

‘Question 1

What is the exact value of cos 135° ?
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Question 2

What is the acute angle between the lines ¥y =2x—3 and 3x+5y—1=07
Answer to the nearest degree.

(A) 32°
(B) 50°
(©) 82°

(D) 86°

Question 3

What are the coordinates of the point that divides the interval joining the points
A{7,1) and B(0,—6) intemally in the ratio 4:3 7

A G-3 © 4-2

® &,-2 (D) (4,-3)




Marks SECTION IT
Total Marks 25

Question 4 (10 marks)

® Suppose that « 1s an obtuse angle and sine = g , find the exact value of cos a. 2
Question 5 (12 marks) START A NEW BOOKLET Marks
(h) Solve f;—s >0 2
(2) Showthat: tan(90° — x) sec(180° + x) cos(90° — x) = —1 2
(¢} Point £(5,—2) divides the interval AB where A(30),B(h, 1), extemallyinthe = 2
ratio 2:3. Find the value of h. ’ @) Solve: ° : _ 3
2x+5 <3
() Solve for ° < @ < 360° to the nearest minute . 2. x+1
4cosa—1=0 )
(¢} By using the difference of two squares or otherwise, prove: 3

i 1
(1 + tanx + —) (1 + tanx — —) = 2tanx
COSX, Casx

(e} Prove: ’ 2.
1 + LR 2coseca
1—cosa  1-+cosa ¢
- ' /@ Find the exact value of bifthe tines 2x —y-+1=0 and bx+4y—10 =0 4
intersect at 6Q°.
End of Section T




Question 6 continued
Question § (13 marks) START A NEW BOOKLET Marks
' ©
(®) P {i) Show that

4cos?x + cosx sinx + 2cosx + 4sin®x = 4

can be writtenas  cosx (sinx +2) =0

Ta e

(ii)  Hence, solve

4cosix + cosx sinx + 2cosx + 4sin®x = 4 for —~180° < x < 180°,

The angle of elevation of a tower PQ of height h metres at a point A due east is

12°, From another point B, the bearing of the tower is 051° and the angle of

elevation is 11°. The points A and B are 1000 meires apart and on the same level End ,

as the base Q of the tower. nd of Section II

] Show that < AQB = 141°. 1

(i)  Consider the tn‘anglé APQ and show that AQ== htan78°, 1

(ii)  Find a similar expression for BQ 1

i}  Use the cosine rule in the trangle AQB to calculate /i to the nearest

@) Usstiocos e AQ 2 END OF TASK

(b) A point C divides the interval jolning A(—4,2) and B(6,8) internally in the

ratio mn.
(i  Write the coordinates of point Cin terms of m and n. 1
(i) Alinel: 3x+y— 17 =0 passes through the point C. Using part (f) 1
show that:
3(—dn+ 6m) + Zn+8m —17(m+n) =0

{iii)  Hence, using the expression from (if) find the ratio m:n. . 2

Question 6 continues
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On Solutions

HMarks | Comments: Criterla
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On
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Comments: Criterin
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